N L& .5 v aedih.

Which stafe of India has t! \highesﬁmvermg% Y Gl LT

Foaef

of forest areain the to  area?

(B) Nagaland

(D) Arunachal Pradesh
‘Palk strait’ is located between -

(A) India and Indonesia

(B) India and Maldives

‘" India and Sri Lanka
) India and Myanmar

(A) Tripura
(C) Mizoram

n which of the following districts of Rajasthan
the ‘Inceptisols soil’ is found?

(A) Jaipur, Dausa and Alwar

(B) Kota, Bundi and Baran

(©) Jaisalmer, Barmer and Bikaner

(D) Pali, Bhilwara and Sirohi

In which district Shergarh Wlldhfe Sanctuary is
situated?

(A) Sawai Madhopur
(C) Bundi

(B) Baran

(D) Karauli

‘Isarda Dam Project’ is constructed in which

districts?

(A) Kota and Baran  (B) Jhalawar and Baran

(C) Tonk and  Sawai(P) Dungarpur and
Madhopur

Which of the following (Political Activist -
Related Princely State) is
matched?
(A) Harimohan Mathur - Karauli 3
(B) Gopilal Yadav - Bharatpur
(C) Mathura Das Mathur - Marwar
(D) Krishna Dutt Paliwal - Dholpur

Banswara

not correctly

- (C) s

- (B) TMreTTet ATed — *RAR

Sathel wferer vl 27

(A) Pz (B) =TTetvg

(D) 3roUTTEred yewr
6 e’ Jahyd & —

(M) MRT 3IR 3ERRRT @ e

(B) MRa =ik wrerdla & Hey

(C) YR 3R Midr & #ex

(D) wRT iR RIHR & weg

o & frefifea § @ e Rer §
TR gaT grl oy 27

(A) SRR, S19T 3R ek

(B) ret, 4t sk ari

(C) TR, e} 3R iFHrR

(D) areft, fiemarer aiR RRE

e Teig arRe fa el 3§ Rera
27 -

(A) T7arE TR (B) Ry

©) & (D) T -
%mwznuqﬁuiw ﬁﬂﬁﬂiﬁﬁfﬁaﬁm
T RY

(A) BieT IR qRj |

(C) Tfp 3R |arE
YR

frfefed # A s Refe sriwdt -

Hefere <= <o) gAfea T8 §9
E

(B)maﬂ?am'
(D) STRYR 3R FiareT

(A) gRATET ARR — el

(C) HR[RT T ARR — ARATS
(D) FwreT Treflaret — siterqr

Fifdd & & S (remsfy — saRuf)

(D) RIS WOR — FReATg ¥ gy @ 7

Which among the following (Topography - 7.

Location) is not correctly matched? el gﬁﬁm TE R?

(A) Bhakar — Eastern Sirohi M) TR — i RRE
(B) Oriya Plateau — Mt. Abu (B) Sf¥ar To — 1. amg
(C) Lasadia Plateau — Rajsamand (©) AT TaR —
(D) Bhorat Plateau — Between Kumbhalgarh to '

Gogunda
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Rajastham 1S -
(A)

(B)
(C)
(D)

—Hhe—sex Tatio Tn
6 points |0Wer th
11 points |0Wert
6 paints higher t
15 points lower
In which year, R

AN the nationg|
han the nationg
han the nationg|
than the hational

average,
| average_
average_

a‘\/el’age_
Aasthan State gy

: ironment
Policy was declared? ;
(A) 2008 (B) 2010
(€) 2013 (D) 2013
10. Where dig the subsidiary of Adani Hybrig
Energy setup Indiy’s first wind-solar hybrig
power plant?
(A) Delhi (B) Raipur
(€) Hyderabag (D) Jaisalmer
. Which (Minera — Mining Area) is not 4 correct
match? -
(A) Manganese — Kala-Khunt;
(B) Garnet - Kalaguman
(€) Iron Ore — Morija-Dabla
(D) Rock Phosphate — Jhamar-Kotra
12 Who was the political agent of Jaipyr during the
Revolt of 18577 e
(A) Major Burton (B) William Eden
(C) Mock Mason - (D) Major Morrison
13. Read the following statements carefully —
(i) In the [ate 19t century, the Desh Hiteshini
* Sabha was established in Mewar., '
(ii) Social reform was the core objective of the
Sabha.
Choose the correct code - "
(A) Only statement (i) is true E .
(B) Both the statements are true
(C) Only statement (ii) is true
(D) Neither (i) nor (ii) is trye A
1. Which among the following Thikanas imposed
‘Chanwari tax’? ]
(A) Kuchaman (B) Didwana
(C) Bhainsrorgarh (D) -Bijolia
15, Lodrava is famous for -
(A) Jains (B) Gurjars
(C) sikhs (D) Jats
1314

T T T —— .

o,

Accord|ng to Census 2011 H~A nSNer m—rmgymll SN,

10.

(A) 3T e,fmﬂmﬁqm%g

(B) vrefier aitera @ 11 fa=g P = |

(C)mvfraaim%e;ﬁ;{@zﬁg” |
3T 9 15 BH |

(?[;ju?m wtqzer Ny feg ad # wifte

BT TP -
(A) 2008 (B) 2010
(©) 2013 (D) 2018

IS ETEf T Y weTaw wO Y fbe

WM W RGBT U5 Ja—HR BhIS UTeR
whie w@nfig faar

(A) feedt (B) IR
(C) BexmEre (D) Sraemr
- ?ﬂw (@
? .

12,

13.

14,

15.

1857 Bl wify & e i o
TSI i o TR diffea
W) %o wds (®) faferer g
(©) i e () R e

(i)lgﬁwa\’mﬁ.mﬁéﬁ |
ST BRI ) T | Fecifyef
(ii)wm-ﬁ@mmwml

W e g -
) B o (i) g 2

B) T o e
(©) zact o (ii) wer 2
O3 ()1 & (i) e 2

AT

™), e ®) Srear

(©) FieTe (D) fasitferar
T ulrg & —

(A) il & farg B) R B farg
(C)ﬁq—(ﬂgﬁq%ﬁm (D)Uﬂﬁz%ﬁ:rq

— s e e L
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B

1 . - \e 0 L ~ - N
6 Whith of the i : ns,\/er L B e S 1 (Rarg qf'\'?ﬂm;n_‘

g;triC?) is not matched corroct;y? o forem) pafer TeT 27
Par\lal1 lift — Jaipur (A) WA ferge — STAgR
zg; gavan-Bhado ~ Kota (B) iia-amal — Prer
5 SOm-Kamla-Amba = Dungarpur (C) AV —FHelT—3r T — YRR
7. g om Kagda:_ Ud.aipur (D) < W BRAREN
f ;lcoex::lv (on 9t April 2022), who among the 17 g1o1 @ # (9 e, 2022 ) IR
8 folk music artist of Rajasthan was Ffefta # @ fad @l G Forrer 4
awarded ‘Sangeet Natak Akademy Award’? W A1ed B RBR' UM fagy e
(A) Gazi Khan Barna  (B) Mame Khan (A) 7St @ @w®Ar (B) A @
N (C) Kheta Khan (D) Dapu Khan (C) War @M (D) =1q @™
© "Mahansar’ is famous for - ‘ 18.  ‘wgurgw’ g & —
\"*) Golden work in painting (A) I 9 ferd & forg
\5) Abundance of Mughal paintings (B) Firerdrefl Rl @t arfdrepar & forg
() The Haveli of 360 windows (C) 360 flargfral o1 g3l & forg
(D) sati Mata Temple (D) wely 7T AfeR @ farw
How many volumes are there in ‘Batan Ri 19 ‘qreli & pear)y fhay @oet farrarr 27
Phulwari’? ‘ (A) 8 (B) 16 .
(A) 8 (B) 16 (C) 10 (D) 14 E
(©) 10 (D) 14
0. Whoisa chairman of 15" Finance Commission 20 154 A amanT & sreaer CoE i r
of India? () St 3 AR (B) et i
(A) Dr. Ashok Lahiri (B) Nirmala Sitaraman (©) 3T IR D) 9. . f¥yz
(C) Ajay Narayan - (D) N. K. Singh :
21 How many districts were included in ‘Intensive 21 T 1960-61 H, & BN Ryer wrdmy @
Agriculture District Programme’ in 1960-617 AT e Rrelt & wifeg foar ar?
(A) 10 Districts (B) 7 Districts (A) g9 oy (B) w9 forer
(C) 8 Districts (D) 9 Districts (C) 3 forer - (D) 5t frg
22. ‘Shivasamudram’ waterfall is located on which 22 ‘RiamEn’ Sreiygrg e T8 W R
river? ' 87
(A) Kaveri (B) Sharavati _ (A) Sy (B) SR
(C) Periyar (D) Godawari (C) IRaR (D) wrerad
23. The Governor of Rajasthan is the ex-officio 23 NI & rRyyrey Uod  Heufy g
Chancellor of - ¢ -
(A) All the State Universities of Rajasthan. . (A) ISR & o T fyvafenet & |
(B) All the State and Private Unive;(s'ities.as w:]ell (B) I oy T el fvafenet & 9
as Central Universities working in the Bl ROR & 4 g
territory of Rajasthan. “‘ i faeafaememy | SO
e Universities as well as a e )
. é(,elnttl::l SL;[:itversities working in the territorv = :}q‘?‘?ﬁw GRS 3
of Rajasthan. _ e (D) v DRy Rvafiered
well as Private Universities ) XIVTRIT . VAR Ry @ wry & Al
(D) All the State as | fvafaemeryy o

of Rajasthan.
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26.

28.

29,

30.

B1A %

Hﬂ—%sterrrﬁajasthan (Hadoti)
(B) Western Rajasthan

(C) Abu Mountain region

(D) Bharatpur and Tonk Forest division
Who was the first Prote
Legislative Assembly? ;
(A) Maharao Sangram Singh
(B) Yashwant Singh Nahar
(C) Poonam Chand Vishnoi
(D) Narayan Singh Masuda
Which one of the followj
Human body part) is not m
(A) Tagadi - Waist
(C) Suraliya - Ear

Ng (Ornament -

atched correctly?

(B) Ramjhol - Wrist

.(D) Timaniya - Neck

The motive of e-SHRAM portal js -

(A) to do online Payment of workers

(B) to create 3 National D
workers '

€) to create a National
unorganised workers’

(D) to educate workers

atabase of organised

Database of

India has been divided into 15 Agro-climatic

zones by-

(A) The Water-Resource Ministry
(B) The Meteorological Department
(©) The Planning Commission

(D) The Agricultural Ministry

The Dry Land farming is done in India in -
(A) More than 150 cm annual rainfall areas
(B) 35 cm to 75 ¢m annual rainfall areas
(€) 75 €M to 110 cm annual rainfall areas

() 100 cm to 150 cm annual rainfall areas
Match the following —

Kuldevi
(1) Karni mata
(2) Sakrai mata
(3) Aai mata
(4) Narayani mat;
(A) 1-iv, 24, 3-ii, 4-ij
©) 1-iv, 2:iif, 3.4, 4.1

Laste
(i) Nai/Nayee
(i) Seervi
 (iii) Khandelwal
(iv) Charan
(B) 1-ii, 2-i, 3-iv,4-iii
(D) 1-jv, 2-iii, 3-ii, 4-i

SR R —

M Speaker of Rajasthan

25.

26.

27,

28,

29,

30.

Page 5 of 24

TR E —

Y gorer|d W8 O
Khus grass is mainly foung in RwAnls/V@. K wﬂ R WU ¥
(A) Sou

S ’
) SRS )
(B) ¥t JTorRer

(©) arq wdet & A 5
(D) WA 3R i a7 farT N T
RIS U w1 & Her HicH i
97 o

(A) wer1g wum g

(B) T3 Rig 1w

(©) 719 w7 fawig

'+ (D) TRmyor R e

e % & SR @ — Ag e
T T 82

m—m (B) <Hgle — errg
© fomn — v (D) Ry — oy
L C e
(A)mnﬁ'aﬁaﬁmmm
(B)Wmﬁwww@amm

© sRifeT FrRE w7 ge VSR Sers
AT

O) TR Y Rrfer gy

Wﬁlsm—mmﬁﬁﬁm%
R) Stei—wamm s gy

®B) v o gy

(C)WWERT

(O) By w1 gy
Wﬁweﬁ?ﬁaﬁmﬁ%—

(A) 150 1. | I Tt e o

(B) 35939, % 75 9y TS a9t a7 3

©) 7504 ¥ 11098y e e
(D) 10094 = 150 35, RUREZR: R ¥

Ferad! ey
(1) SO0 Ay (i) =g
Q) ¥ wEr

(4) RO Ay
(A) 1-jv, 2-i, 3-ii, 4-iii

(B) 1ij, 2, 3-iv,4-jji
(C) 1-iv, 2-iii, 3-i, 4-jj

(B) 1-jv, 2-iii, 3-ji, 4
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31.

32.

33.

34.

35.

36.

37.

131A %°

To Wi - : A K : q AN '
‘Che ;Om .d'd Kesari Singh £5 nwar Rie ares RT ey oy
K .vanl Ra Chungatiya'? TrferT o forar?
& Mirza Raja Jaisingh (A) firtf o SrafdiE
(6} Maharana ajit Singh (B) #ERTUM 3reid Rig
M 5 .
& IVlaharana Pratap Singh (C) weRmem Y RiE
) aharana Fateh Singh (D) wgRom wag R
' e aut . . ’ r
ke Kirtihsol: of poetry collection, ‘Mugtee" is - oo 32. WY S AT WUE B G ¥ -
© u atina (B) Vijay Verma — (A) ifct <l (B) fasrr g
) EEThESh Nirmohi (D) Asha Parashar % (C) #ider faATE (D) 3meri uRmeR
o;i’;ap Slngh.Barhath was imprisoned in which®® 33 fr=fiag # @ b veum 39 4 yamh
5 Be following conspiracy case? S ares @ owEw Rar Tan
anaras conspiracy case == (A) ' ‘
IR Y$IH HHeHAT
(B) Lahore conspiracy case Ak AER T ® :
©) it = (B) YSIH b !
Udaipur conspiracy case (C) SegR q@?ﬁ{ HHEHAT E
(D) Alipore conspiracy case 0 (D) eqr»ﬁg-" W qHSHT
The one rupee note b : L ;
(&) Secretary, Minis ;a(rBs)tZ:ansanﬁ:atlclfe'of the-% 4. & T @ A W s EXIER B 27
e ance Minister % (A) wfea, fam wamera (B) g w4
(©) Prime Minister (D) Governor, RBI s i - (B) TR, 3. . o
\{Vhich of the following statement is t’rue?\ ;5 35. ﬁ'FTTﬁb—cf iy 3N ~
(i) Jagdr?ep Dhankhar sworn in as the 14t vice-* - ' Sl I (B
President of India on gt August, 2022 W & W 2022 FY STy RECERRICE
J (According to person). ‘ sw) 144 SIS & %y 3 R ol (@fde 4
(i) Jagdeep Dhankhar belongs to Jhunjhunu g IINR)
gls.tnct and is the second person fromk? (ii) ST eRarg T waey 3 7l @ &
__Rajasthan to become the Vice-President. ISR | SISy g9y
(ili) He has been also a Lok Sabha M. P., a¥™ T il Wa}ﬁf
member of the Rajasthan Legislat;vev ' .
Assembly and the Governor of West’g (i) T e A<, XToTeers fagresm @
Bengal. ‘ SR 9 IR drey o YR Y %8 £
(iv) At present the Speaker of both the House () (iv) T T B T Bl gt B anayg
of the Parliament is from Rajasthan. . ISR 9 8
(A) i, ii, iii (B) i, iii % (A) i, ii, iii B) i i
(C) i, i, iii, iv (D) i, iii, iv % (©) i, i, iii, iv (D) :: !
The mosque of Malik Shah is situated in - = 36. [y WE B ARz e il iv
(A) Jalore (B) Jhalawar M (AR T) ¢
(C) Baran (D) Rajsamand iy (C) qry .(D) &
Who defeated the combined army of British . 37. 1857 o iy ¥ s v £
and Jodhpur state in the Revolt of 1857? YR I B Ry T SRR
A I (B) Rawat Ram Singh (A) SraEarer 3 waT?
(A) Jaydaya ) hal (B) 3rqq 31aRiE =
(D) Thakur Kusha (C) Ay
(C) Mehrab Khan ( G D) Sra apaet
Singh ( )ﬁ’{'g ;}0
Page 6 of 24

Scanned with CamScanner


https://telegram.me/srkresult

ol vt EISVEL K EYoers o o)
38. President’s rule was imposed for #a e anata e = ‘\frf@'fﬂ%f SIEEl %’—Grf
number fltlmes‘durlr.\g. the tenure of which of o0 W wrafferen aR » z d{,of
the following Chief Minister of Rajasthan? - (A) HIg oIrel WT%I” UH; M
(A) Mohan Lal Sukhadia ' Qo Nt e 9raTad Q’FJWK-—'—
i 1y (B) iR} Rig ;H/C ET
(B) Bhairon Singh Shekhawat 3 W e S :
(C) Haridev Joshi E < (© e . W\m’f"t
(D) Shiv Charan Mathur :: (D) R HIg @@g@ea T gaiferd
39. Maize is produced largely in which part of 2:39' WW@;%T g@m T g )
Rajasthan? ‘ ST '
(mJ South and South  (B) Centra (A) <ferdfy qerr =féref  (B) wegadd
East ‘ . 29 gdi
(C) Northern (D) Eastern 00 (C) Iud (D)
4. Match these - A g Aifw
(1) Ajrakh Print WKaithun O () yoree fiie (1) DA
(2) Power loom fabric printing (1) Jodhpur = (2 YIaReH $Usi R BUTS (1) Gﬂug?
(3) Mothda ' (1) Balotara SE (3) Areer ' (N EISIGE
(4) Masuria (V) Barmer (4) wgRay (V) TrewR
Choose the correct option - (o' SO s F{ M - =T > —
A (1)~ (v), (2) - ), (3)= (), (4) - () ‘&'; (A) (1)-(v), (2) - (1), (3)~(n), (4) = (1)
- B (1)-(, (2) =), (3) = (), (4)=(Iv) % (B) (1) -, (2)=m), 3)- ), (4) - (1v)
©) (1)-m), 2)- (), (3) - (v), (4) - (1) & (© (1)-q), (2) =), 3) - (1v), (4)-()
) (1) - (), (2) ~ 1), (3) = (1), (4) - () - ©) (1)~ (), (2)- (IV), (3) - (1), (4) - (1)
M. Which among the following is the quantitative s:.aﬂ D §5 gy o 3 g DI R fRjzy
method of credit control by the Centra| Bank? ‘ Eil| fafer &7
(A) Direct action (B) Marginal 82 (A) TeT refars) (B) Hrig eﬂTErs?:rqu
requirements Q0 C) & D R
(€) Bank rate (D) Credit rationing % 4 Sy e
42, Sridhar Andhare should be given credit for 92 MR 3R Bl frg Bl TPBTeT % I
bringing to light the painting style - E B AT ez Sy 4 S
(A) Shahpura (B) Kishangarh = (A ey (B) fhermrg
(€) Uniara (D) Devgarh (©) SfmRy (D) Torg
% Gandhi Ashram i Hatundi (Ajmer) was  43. gougy OOTR) & el gqra L .
established = e T e D ERT 9 TS
(A) Arjunlal Seth; (B) Manikya Lal Verma (A) Sr5fermer B) w1y 1y ut
(©) Haribhauy (D) Jamnalal Bajaj © &R1s Surzry | () SRS
Upadhyaya ENIN
- Which of the following Hills is not a part of the 44 Frifisfeae TETRSTT % B o WYST g
‘Satphya Range’? | BT AT Y 22
(A) Bharner (B) Rajpipla (A) TR (B) jTordger
(€) Maikal (D) Mahadev (C) Arer (D) #g1eg
1317 < Page 7 of 24
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Accordihg to 2011 Census, the Aem&i\/er J&%y_‘

UL @ SR, YOI Bl ey

45, ;
scheduled tribe population to total population ST W ST ferd ST T ST
in Rajasthan is — yfewra 8 —

() 13.3 (B) 135 (A) 13.3 (B) 13.5
() 16.9 (D) 14.8 () 16.9 (D) 14.8

46 Who is winner of women’s singles in French 46.  thvy afiu—2022 W AfRT Gdel @I faTar @i
Open - 20227 .4
(A) Caroline Garcia (A) Safer miRfan
(B) Kristina Mladenovic (B) fredrm wareAIfa®
(C) C. Gauff (C) %1, 7w
(D) Iga Swiatek (D) 371 R

47- Which of the following Railway station has . 47- e & @ fob Ya WIA B 8T 8 H wifem
been awarded Platinum Green RaiIWay S{ation YT Yed g AT & TS 87
rating recently? (A) Trerge (B) 3rPR
(A) Jodhpur (B) Ajmer : : 3
() Mumbai (D) Hyderabad (C) g% & |

48- Which is the largest agro — cllmatlc region of  48. YGRYM HT HaQ gl P — Searg yew

Rajasthan? HITET 87 1 Exam fspirant
(A) Internal drainage dry zone (A) 3MaR® yare T & .
(B) Arid western plains (B) Isp uf¥endy g EE
(C) Sub humid southern plains (C) ST are <farht de

(D) Hyper arid partial irrigated zone (D) afty =5 <rifdres Rifg ey

49.  Read the statements carefully - 49. oA} By m{éﬁ gfgy —

() Ti::ar:z]m PTIiw;I is th; only C:ieic Minister () OFRM et o e Q“@(
Who has also been a Deputy Chief Minister T & . ’
in Rajasthan. ot i g o g e E
(1) Hari Shankar Bhabhra has been the Deputy (1) BRADY ST o # a9 e www
Chief Minister of Rajasthan for the Iongest T R T SUHHAT 2 & |
time till now. - 71 % & S ey a8 2
Which of the following option is correct? (A) daet FaT | TET &
(A) Only statement | is correct ' | (B) 1T Il @ T T
(B) Both statements I‘and Il are incorrect (©) e ot 1wl &
(C) Only statement Il is correct _ .
(D) Both statements | and Il are correct ‘ D) 17 11 g=F AT R § .
i0. Who wrote the bopk ‘Planned Economy for - 50. ‘g s‘cfﬁ:ﬁﬁ‘[ BR 3T TTE ey
: fored?
India’? 2
(A) pt. Jawahar Lal Nehru ! ‘_’ﬁ“?\’ EIEE
(B) Mahatma Gandhi (B) wrerem T”Eﬁ
. (C) s g
(C) Man Mohan Singh i
(D) M. Visvesvaraya 4 TS
———;-""’—'_" Page 8 of 24
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a Rk 7 9

k¥
e Notortt Mssion for satton NSV OF e B
launched asla sub — schema of

otwiitch among
the following programmes?

(A) Rashtriya Krishi Vikas Yojana

(B) National Food Security Mission
(C) National Horticulture Mission
(D) National Cash Crop Programme
What is the maximum amount
Rajasthan State Information Com
impose fine for not giving informa
(A) 30,000
(C) 20,000

that the
mission can
tion?

(B) 25,000

(D) 15,000

In Rajasthan the quorum to Constitute 3
meeting for the consideratio
confidence motion against th
Municipal Board shall be
number of persons entit|

(A) One third (1/3) (B) Three fourth (3/4)
(C) One tenth (1/10) (D) Two third (2/3)
Who was the first Chairperson of the State
Finance Commission in Rajasthan?

(A) S.K. Ghosh

©) K.k Goyal

What is the ‘Badhar’?
(A) Alake of Rajasthan
(B) Wedding banquet
(€) An act of funeral

() A tribe of Rajasthan
Where was the fir
in Rajasthan?

(A) Beawar

©) Lakherj

Which one of the follo

is different from the 0
Shehnai

(© Mashak

n of a po
e chairman,

€ to vote thereat.

(B) Heeralal Devpura
(D) m. c. Surana

stcement factory established

(B) Gotan
(D) Dabok

wing musical instrument
ther three?

(B) Khadtal
(D) Algoza

Square kilometre (Acco

() |4 rding to Census - 2011)?
) Jaisalmer, Pali ang

Barmer
and Bikaner
mer and Jodhpur
'Pa“andjodhpur

Jaisalmer, Barmer
Jaisalmer, Bar
Jaisalmer

(©)
(D)

................... of the total _

52.

53.

55.

56.

58.

95T B Toq B
. BPAR T B et ey, gl |

QUG <} elidl [har e

() Xty gpfy fasmr AT

(B) xrefoy e geenm faer

(©) v qprardy fAer

(D) Sreier <febel thred HIITH _
RISRT 99 Y@l 3R JET A8) ad T
ARG frN W B g AR B
RAbar 27
(A) 30,000 (B) 25,000
(©) 20,000 (D) 15,000

SORAF TR Ui, s @ foeg -
arﬁrsama%mmﬁm?mzﬁﬁmﬁﬂﬂ

fore orgf wed wem @
At foerd (1/3)  (B) & dleg (3/4)
© <@t wmr (1/10) (D) & faerg (2/3)
SIS 199 faey amar o U e B

o

R) T, 3. Hy B) EReet Sy
©) . & g ©) . M Ry
TR a1y 27

(©) sicife o v Gy 1AL RO o
(D)mmaﬁwmﬁ
Wﬁ@ﬁémummmmﬁmﬁa
B3 1?

(A) 1R (B) Meq

(C) o (D) s915
ﬁﬂﬁmﬁﬁﬂ?ﬁwm?ﬁmﬁmﬁ
e 87

(A) zrgerg (B) Wsere

(C) #3185 (D) arerra
wmﬁﬁhﬁ%aﬁﬁmﬂmmmo
wﬁauﬁﬁ%ﬁaﬁmwma
(Wmm-zona%m‘:mw)?

(B) ST, areiR gy i
(C) SRTeAR, Treii aile SIMgR
(D) SRIEAR, urely aife SR
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The cloth warn on the wAan&r K

R R W 985 iy
e %
tribe is called - A)
(A) Khoyatu (B) Jama EC) WW (D) Eb—'JTq\
(C) Polya (D) Kachabu T
ST, 2022 ORI 7
®0- Border Security Force has launched which 60 T el el &I g
operation at Rajasthan border in January, AT R B |7 AET Ferdr T4
20227 o :
e (B) 3Ta¥erd ygq
(A) Operation Shakti  (B) Operation Pawan (A) 3o aft
(C) Operation Kranti (D) Operation Sard (C) aifq¥er Hifd (D) 3ffTRA & &ar
Hawa
61 Highest Ragi producing state of India is - 61. wra ¥ wdifere I BFQ(BI)aEB TG & —
(A) Maharashtra (B) Tamil Nadu (A) FETRTEL . e
(C) Karnataka (D) Uttarakhand (C) Bife® (D) STRTE ﬁ
2. What is the place of Rajasthan in the 62 el & IcTGH ﬁ XITRRTT T HIRd |
production of groundnut in India? I 87
(A) First (B) Fourth (A) ForAT (®) f@ﬁ
. (©) Third (D) Second (C) et (D) fg<ira
83. " In which year was first commemorative stamp 63 ferilee R favn wwr W yzen e
on Vijay Stambh’ of Chittorgarh released? ST fehe dg ST far ar?
(A) 1949 (B) 1956 (A) 1949 (B) 1956
() 1974 (D) 1986 , (C) 1974 (D) 1986
84. To which sect Govind Dev Temple, Jaipur and 64 AT AT 7R, SR T Tow weT 7R |
Madan Mohan Temple, Karauli are related? BRIl BT T fdhy RSk I b Q-Ll 27 I
(A) vallabh (B) Gaudiya (A) geem (B) 7y
(C) Nath (D) Ramsnehi (C) =rer (D) I=TET
65. Which of the following is not a proposed 85 o= F @ B gfexr mhf) TEY gRaraT &t
beneficiary district of Indira Gandhi Nahar WA arreft e T8I 27
Project (IGNP) (A) =) J
(A) Nagaur - (B) sikar - @) [ E
(C) Pali (D) Jodhpur _ (C) wreit (D) SrgR
66.  According to the Census 2011, which district of ~ 66. 2077 gy STV & SR, ORI & b
Rajasthan had the lowest rural sex ratio? forer § RS TIT‘fITUTﬁ:mqum e
(A) Jaisalmer (B) Dholpur (A) Sy (B) sirer
(C) Pali (D) Tonk (C) wrehy (D) o
67.  ‘Bithadi Wind Energy Project’ is established in 67 ol yqy ol uReery IRAE &
which district of Rajasthan? foret % venfirey o5 TS #7
(A) Jaisalmer (B) Bikaner (A) SrgenR (B) S
(C) Jodhpur (D) Chittorgarh - (©) Gﬁqg-\x (D) Pr
68.  ‘Mahamandir of Jodhpur' is a place of worship 8. TR BT ey WW— wﬁ - -
of - (A) mm )
(A) Dadu sect (B) Bishnoi sect - R . P B) R s
(C) Ramsnehisect (D) Nath sect TAEIET W oy (D) =1y wyerg &1
131A ofe Page 10 of 24
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&l
69 Which sgheme has been implenAnﬂlvq F%T% i W%?Ff (il i:-;—:—[ Gl
IinfetiloffWG‘?lRECA FOPTOVITE Tinancial support A ¥ Yy arel uRaRl B ﬁfm
e families residing i ot :
(A) Indira - Gandhi Urban Employment (A) gfexy Tl KRN TR "
Guarantee Scheme ' , R —— 3@@[ IS RIIES WRT%T
(B) Deen Dayal Upadhyay Urhan Employment ,
Guarantee Scheme I
C) Rajeev i _
" guJ:;nteeGSacr;ldel:rI\e rban. - Employment (C) <rsfig el T ISR MR AT
(D) Mukhyamantri Shahari Rojgar Yojana - (D) e s Wﬂ? GroT=T
0. Which of the following is related to green  70. Frefyfed ¥ ¥ ST WRg gRa wifa ¥
revolution in India? ‘ Teferg &7 -
(A) Calculation of Green GNp 3 () eRe ST, BT oMY
(B) Environment Protection E (B) qafgvor wgveqor
(C) Green House Effect (C) eRg T Y9G
() High Yielding Variety of Seeds (D) 3= ScTEHar e & EIN|
" In how many days an appeal can be made to = 71. RIS SlBal MRS s 2011 &
the second appellate authority against the el v arfieiny TSI & fyofy H
decisio.n of the first.appellzjlte authority under fora fe=i ﬁ‘@ﬁ“ﬂﬁ@‘éﬁa TWRBTS ) T
the Rajasthan Public Service Guarantee Act, BN S Ty &2
20117 :
(A) 60 Days (B) 15 Days ) 60 fart (B) 15 e
(C) 45 Days (D) 30 Days (©) 45 ﬁ?{ (D) 30 fe
. To which order of Sufism, the symbol of 72 RIS * Wed @ RICT BTG E’Tﬁgﬁq
communal harmony Qazi Hamiduddin Nagori, AN, o ! Retfier & o
belonged? ' (A) TRy (B) ey
(A) Magribi (B) Kadiri (C) R (D) GENECT
(C) Chisti (D) Suharawardi »
B India’s first olive refinery, was set up in 73 WRg ¥ yum Rerarrdy RIS
Rajasthan at - T a5 T ot -
(A) Suratgarh (B) Pachpadra (A) ¥z 3 (B) garwgy 3 |
(€) Amarsagar (D) Lunkaransar- (©) spreamre (B) orevorReR 3
. When  was the Planning, Department 74 IoRers LRIEERC B Yoy B
established in Rajasthan? g
(A) 1956 (B) 1955 (A) 1956 (B) 1955
(C) 1953 (D) 1954 (C) 1953 (D) 1954
% Which year the concept of Multidimensional .75 TEamaTY Ty S[ADIE B ATROT g 7
Poverty Index Was introduced? et
(4) 2011 ) s (A) 2011 (B) 2010
() 2008 O 5006 (C) 2008 (D) 2000
B1a oo
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76. At whig ' ; eAanr;!sag/aVer q RIS H
Cattle Fair is organized in the month of Kartik? . forw oI TR TSN €T 87
(A) Sitabari (B) Jhalrapatan (A) HfrerraTst () SR
- © KestZipatan () Jhalawar (C) arerrarare (D) =retars
i TthUgthyhich newspaper did Vijay Singh  77- fraRie ufde o 6w SR & W‘"}' ,
Pathik p@agate the Bijolia farmer movement fasitferar faam afFaler & AR ¥ AR #
all over tdia? & foar or?
(A) Prat;;) (B) Tarun Rajasthan (A) gam (B) revT XreTverr
(©) Naveen Rajasthan (D) Yugantar (C) 7 oI (D) =R
78 Where is the ‘Bhartiya Lok Kala Mandal 78 “wRdw @@ @ol Aved W BEi fRerey
Institutebideated? | 8?7
(A) Jaipggy (B) Tonk (A) ST (B) <
(©) Jodh&%r (B) Udaipur ©) SR (D) IR
Who isahe Secretary-General of United 9. giuE # Hﬂ?ﬁ T WY & WEMEE @
Nations R present? _ 27
(A) Kofi ®fnan (B) Antonio Guterres (A) BT =T (B) vueiferay T
(C) Perez de Cuellar (D) Ban Ki-moon C) N & R~ (D) A DT
80. 1pgth In%n Science Congress scheduled to be ~ 80- &=l 2023 W o108dt SRTT wEw @RM
held in Jemuary 2023 at - Imafor 8nfr —
(A) Banglipre (B) Agartala (A) e # (B) srreererr 3
(€) Nag§2 (D) Udaipur (C) AT 3 (D) SEaqR 3
81.  Which system is currently being adopted inthe ~ 81. aAdTE H IR ot PR & & 3
field of E¥Onomic Planning in Rajasthan? fe wome B srRy o vEr 87
(A) Centralized Economic System (A) Biraee anfdfes yoredy ]
(B) Fedgsg) Economic System (B) W& anfdies womrely E'E
(C) PublETEconomic System (C) xmawie anfifes gomrely
(D) DistA€? Level Economic System (D) R W anfdfe TOTTAT
82. Which ofi@of the following (Shifting Cultivation ~ 82. fy=fafRag ¥ B A (I Py — &)
- Area) isrot correctly matched? gafer T &7
(A) JhurﬂgAssam (A) 3 — 3rem
(B) Ponam - Kerala " (B) A — Fxa
(C) Podu - Andhra Pradesh and Odisha (C) U8, — 3 =29 afk anfsem
(D) Kumari - Madhya Pradesh (D) TANT — 77 y&w
83.  Where was Swami Keshavananda, a famous 83. ﬁT&ﬂFﬁjf\’ w1, ufig W@l S @
education saint born? T PEl geT? Y
(A) Mangloona Village (B) Rampura Berry (A) HTeLT A {B) ImqRy 99
(6) Banasur Village  (P) Harnawa Village (C) AT i (B) &wemmar <ifa
131A 4% Page 12 of 24
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84

8.

8.

.

¥ 9

pARAKH', recemtlyseen 1, news is re
Jhich of the following? TRSW

: o qerg’ AT

(A) Education (B) Health (A) RrEr (B) TR
(C) Banking ®) Industry (©) 3RET (D) ST o
The ‘BHOR’ program which g being run with 85, MR (@ a3 FdHd Sl fh o
the ~co-ordination o lice STRITeT ST & WA | Formar S 2
Commissionerate, Jaipur, is aimeq 4 - aa T SrTT D — 2P
(A) Rehabilitation of crimings o A) - W{_\q otere “ .
(B) De-addiction &E b SENIDE] s Excaum Pepvam
(C) Eradication of child laboyr - ©) Wﬂm - e ) el
(D) Rehabilitation of beggars E | L Wﬂ Az,
et 328 of the following is not cofrectly  86. =1 F ¥ = g gaferd el &7
atcheds
(Tx) Vansh Bhaskar - Suryamall Mishan (A) 991 9y — IiHeeT WO
(B) Kuvalaymala - Uddhyotana syrj €0 (B) Faeraener — weaT g
(C) Prithviraj Vijay - Chand Bardaj 5 (C) gedRret fawrg — EREREA ]
(D) Hammir Mahakavya - Nayanchandr@ri (D) =R wETHTR — e T
if the meridian that determines the (Rdian - 87 of wrdy A g — (IST) @Y FuiRa Be
Standard Time - (IST) is given the status of AR QAR YT BT 9 SR YT 7 @
Prime Meridian then what wil| be longitMile of fear ST, Ay aﬁ_\’fgﬁﬂ RIRr T @7
the International Date line? = e - ' SRS
(8) 97°30" Fast (B) 180° East - () 97°30' 7§ (B) 180° ydf
SHETEaD est ®) 82030 N % (C) 97°30' ufdgm (D) 82°30" g
* The  ‘NIPUN  Bharat Mission’ s Eﬂgeing 88. B wRa fery PRI o —
implemented by - . 3 _ - _
(A) g/lmlstrY of Micro, Small and Mr!;dlum (A) e, g v T e -
jtgrpr:ses ®) fre of : HATeg
) Ministry of Science & Technology +— _ ST Hamery gy
©) Ministry of Education (C) fRrear W EI
) Ministry of Labour & Employment (D) 31 vd JomIR Harery gRT
The Chairman of State Human Rlghts 89 =7 ARG R AT B awmer o Prgfr
Commission s appointed by the Govegggr on g9 §RT U |y 99 RieiRer 1o N
the recommendation of a committed{who ST 8, o B enfey T BT &7
a:;ong the following is not part ofthat?g (&) T A.
®) (C)ZI;;sl\i/’:;g:tLZrader f Legislative As :bly = 1 a9t a1 St
o . .o egislativ Sf;p ©) Ny
Peaker of Legislative Assembly il ihtl |
) Chief Justice of High Court | (D) S=a =urgrers a1 e Ry
During the tenure of which Governor General ~ 90- W & &9 TaR Tve @ BRIBT IRM
Oflndfa' the Hindu Widow Remarriage Act was féq faerar REICEI Fefram iRy fr gy
Da55ed? o7
Wlorg Mayo (B) Lord Canning (A) aj_é Har (B) ?'l;l_ef ST
Lorg Ellenborough (D) Lord Amherst (©) =it W (D) &S wHewe
By o .
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I TheStrakrapong got constﬁeh\s‘wﬁerm&@yw Ffe go arema fesg fry Repy |
situated in which fort? '
(A) Nagaur (B) Sivana ' (A) AR (B) ﬁtl'aTTﬂ
(©) Shergarh (D) Gagron 7 (C) s*mra | (D) MR
%2 Who is called the Folg deity (Lok Devta) with ~ 92. aR g aren APpeaaT fRY e ElL
four hands? 27
(A) Mallinath j; (B) Jhunjhar ji (A) Heeli=rer oY (B) =R i
(©) Kalla ji (D) Fatta ji (C) Poetr oY (D) kL il
93 Falky Bai’ is related to which folk dance? B ‘o, T H A R DT | #?
(A) Kalbelia Dance (B) Chari Dance (R) Brerdferar a0 (B) 9y T
(C) Terahtali Dance (D) Bhawai Dance . (€) TREaTl Ty (D) ¥erg T
9. Bharatpur Rajya Praja Sangh was established ~ 94. XA RIS IS ¥ BT I gg
in- (A) 1928 3 (B) 1938 3 T
e (B) 1938 (C) 1937 (D) 1942 3 E‘f.
(C) 1937 (D) 1942
95-- How much share of the center and the state 9. IR F Farfg T T & BRIy
has been kept for the financial arrangement of (:éj_dﬁ_qﬁr_) o iy argeer o foru @ uq
the Drought Prone Area Programme (DPAP) RIS &7 R e T 7
Operated in Rajasthan?
(A) 60:40 (B) 50:50 (A) 60:40 (B) 50:50
(©) 90:10: (D) 75:25 (€) 90:10 (D) 75:25
9. In which district of Rajasthan, in the latest  96. ORI & fhg Rrey § S Sifee w5
surveyofGeoIogicalSurvey of India 2021, huge " it Filuson 2021 & T Heror ¥ dnfe
deposits of cemept grade limestone have been e W @ e TR e ¥
found? A : ;
(A) Chittorgarh (B) palj - - A FritsTe (B) aretr
(C) Jhalawar (D) Jaisalmer (©) srerars (D) yeriR
7. Which ruler of Mewar patronized the painter  97. RIS e REsr B IS B g TG
Sahibdin? . o
(A) Maharana Amar ~ (B) Maharana Jagat P ST ATy
Singh Singh | (A) TERTT arRfyfe (B) FeRTT et |
(C) Maharana Raj (B) Maharana Kumbha
Singh ' (©) 7o YR (D) 7ERYon TR
98- In 1818 AD, on behalf of the company, the 98 1818% ¥ Gy o IR A I R @
officer who made Treaty with the Rajput state R ey T STRIBTE o —
syl | W o T () ared Ao
(A) James Ferguson  (B) Charles Metcalfe (©) e 3o () e e
(C) Charles Hector (D) Mock Mason _
99 In which of the following groups of districts in ~ 99.  forifafag o o RISTRIT 5 5 Ry o E
R;Jja'sthan is alluvial soil mainly found? 3 T T T T e 2
(A) Bikaner - Jaisalmer (B) Bharatpur - - :
Dholpur (A) FIBTR — Sryerirg (B) s — SIIN
c - Bundi (D) Banswara - c e _ _
(C) Kota-B S (C) Prey ’ ECl (D) avaTer — IR
1314 % Page 14 of 24
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0. 32" Bihar Pyrask
Madhav Hada by K. k.

e N0 D
Birla F Aﬁﬂ)\?
which of his literary work? ound

~

(A) Hum Yahan The
(B) Taslima : Sanghars
(C) Aankh Heenyai Ra Hariyal Sapana
(D) Pachrang Chola Pahar Sakhj ri
- Which one of the follow
graphical file extensions?
(A) TCP, JPG, BMP
(B) GIF, TCE, WMF
(C) IpG, GIF, BMP
(D) JPG, CPX, GCM
Which of the following is cor
MS-Excel?
(A) = POWER (2#3) -
(C) = POWER (213)
3. NTFS stands for
developed by S e
(A) New Technology File System: Ap|5|e
(B) Network Technology File System: Intel
(C) New Technology File System; Microsoft
(D) Network Technology File System; Apple

* In context of MS-Word — 2019, the key stroke
to go to the location of the last change -

h Aur Sahitya

ing groups contains’

rect formula in

®) =POWER (2,3)
(B) = POWER (2+3)

and it was

......................

-~

Pla & fel i
(A) &9 T&l
(B) et : Wy 3R Hifed
(C) arf@ &1 1 gﬁu;{@ m;T
(D) U=RT ATl Uey
101. fp=fRea # ¥ frg W # Wihod Bigd
TFHACTH 87
(A) S dy, Srdvsh, drgadn.
(B) SiLammg uw., 1Y, S AU,
(C) 1<l Shanduw, froadr.
(D) SLdSh, Frdive, o
102. wow—yaRiat # e 7 B BRI
9

(A) = POWER (2#3)
(C) = POWER (213)
103. NTFS &7 #aerq

(B) = POWER (2,3)
(D) = POWER (2*3)

(0) “eaw eelteh g Rrees; wapey
104, THgH—a< - 2019 B wef # aif IRee &

WM R T $ oy, ) wie &
(A) Alt + F6 (B) Ctrl + F7 (A) 3ifee +F6 (B) ®gIet + F7
(C) Shift+ F5 (D) Ctrl + shift + F8 (€) BT + 5 ©) o + Rve 4 kg
5 Match column — | and column—|| - - - 105 - | qen w1 @7 fres N —
Column -1 ' W™=
(a) Bar codes e Reer Nlach‘;T _ - @) 3IR BreH
(b) OMR %FGQE?:{T AZ\ 3TN (o) SigEa
(c) MICR %TQ( fwﬁfr/\qr (c) TH.31E A TR
[d)ORCode 3R 7TTET 1Y~ (d) FLIR. B
(e) OCR ME (e) STIA3MR,
Column - 1I AR 1 ;
(1) Objective type tests (1) TGS JHR @ e
(2) Online payments (2) AT Hew &
(3) Departmental store labels (3) é-cﬁl'g ! zf‘;é '%_1 ER & ol
(4) Cheques in banks (4)

(5) Translating printed page to editablg text
(A) (a)-(2), (b)-8), (c)-(5), (d)-(1), (€)-(3)
®) (a)-(4), (b)-(2), (c)-(5), (d)-(3), (e)-(2)
©) (a)-3), (b)), (c)-(4), (d)-(2), (e}-(5)
©) (@)-(3), (b)-(1), (c)-(2), (d)-(5), (€)-(4)

(5) BY §T U &7 TRl e 3 WUTRY
(A) (a)-(2), (b)-(4), (c)-(5), (d)-(1), (e)-(3)
(B) (a)-(4), (b)-(1), (c)-(5), (d)-(3), (e)-(2)
(€) (a)-(3), (b)-(2), (c)-(4), (d}-(2), (e)-(5)
(@) (a)-(3), (b)-(1), (c)-(2), (d)-(5), (e)-(4)

1A o
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106. Consider

108. The

< FHT R faaRr
& ar ¥ e
the following statement OIﬂI-SV\Igl \ \
(i) It usemmM

(i) This technology uses visible spectrum of
light.

(iii) The speed of Li-Fi is slower than Wi-Fi.

(iv) It is expected to be cheaper than Wi-Fi.
Choose the correct statement -

(A (ii) and (i) (B) (iii) and (iv)
(C) (i) and (ii) (P) (ii) and (iv)

107. Match the chemical substances given in

column (1) with their appropriate application
given in column (I1).

Column (1)

(a) Bleaching powder
(b) Baking soda
(c) Washing soda
(d) Sodium chloride

Column (l1)
(i) Preparation of glass
(ii) Production of H, and Clz
(iii) Decolourisation
(iv) Antacid
(A) a—(iii), b - (i), c = (iv), d = (i)
(B) a— (i), b- (i), c - (iii), d = (iv)
(C) a - (iii), b - (iv), ¢ = (i), d - (i)
(D) a—(ii), b— (i), c - (iv), d = (iii) _
........................... is at its largest in children,
but with the onset of puberty,
shrinks and gets replaced by fat.

(A) Thymus (B) Hypothalamus

it eventually

107.

~ (b) AfFHT AreT

108.

) e gy X B Y 8 ST T
I BT & |

() 75 T O SRR o]

(i) em—Br Y R qE-FTE PI Ger T F Al
g

[
(iv) TE—FTS, aE—Td | AR AHAD! BT |
He) 9199 & TIT BITg — .

(A) (ii) 3R (i) (B) (iii) 3R (iv)

(C) (i) 3= (i) (D) (ii) 3fR 2(filrv) )
S () ¥ Ry v Im@afea uaral &r Pler
(1) ¥ fov 77 Sugad uaT | Ae &)

P (1)

(a) =fifei UTG=R

(c) IifRmT |rer
(d) SIfeTH TeirEe

Dl (1)
() &/ = F§
(i) H 3R Cl;, & Sare §
(iii) faRST=revor 3
(iv) Jerfys -
(A) a = i), b (ii), ¢ (iv), d - (i)
®) 2~ (i), b~ (i), ¢ - i), d - (iv)
(©) a— i), b~ (iv), ¢~ (i), d — (ii)
(B a- (i), b~ (i), ¢ = (iv), d - (iii)
.................... RS S N e

(B ‘g[yﬁgjﬁq—\q
(C) Pituitary gland (D) Parathyroid gland (C) ﬁE‘!{aﬁU@r (n: ﬁmﬁs@ Ty
109. When an object falls freely towards the earth, 109 e B T W By d vl R AR & o
then its total energy - SHD! Fel Fof —
(A) decrease (B) first increases then (A)
decreases Al | ) % gﬁ _-g' o
(€) remains constant (D) increases (©) R et 2 (D) T 3
110. What does ‘OTEC’ stand for? 10 “OTEC’ 7 aef & _ ‘
(A) Ocean Thermal Energy Conversion | (A) 3T opty TSl el
(B) Oil and Thermal Energy Conservation (B) 3ifsa yog epfe T oo
(C) Oil and Thermal Evolution Convention (C) 3iiget uog ooy WV‘I m:{
(D) Ocean and Tide Electric Conservation (D) 3T g TES S e
131A %
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it

113.

115,

11,

Big o

The resistange of a paral|e| circuit co

= I3TaTTit O

12
o aRaer @ IR

; all FHTATAY

otk 13 o o N VSV Aoy e T L

one branch is 18 Ohm, what is the

eiother? resistance of
(A) 48 Ohm (B) 3 Ohm
(C) 18 Ohm (D) 64 Ohm
- Comma — Shaped Bacteria is called as —
(A) Vibrio (B) Bacilli
(C) Spirillum (D) Cocei
Consider the following — s
1. Methane E
2. Nitrous Oxide ‘
3. Halons

Which of the above is/are responsible for
depletion of stratospheric ozone? "
(A) 1 only (B) 3 only
(©)1,2and3 (B) 1 and 2 only

- Choose the correct \étatement related to

Biodiversity -

(A) Biodiversity increases towards the Equator

(B) Biodiversity increases towards higher
latitudes

(C) Biodiversity is found equally on earth

(D) High Himalayan regions have the highest
biodiversity in the world

Choose the right statement / statements about

ISRO - ' '

(1) ISRO built India’s first satellite, Aryabhat,
which was launched by USA in 1975.

(2) Antrix Corporation is the marketing arm of
ISRO. B

(3) Master Control Facility of ISRO is situated in
Hassan.

1,23

(B) 1,3
€23

(D) 1,2

Find the wrong number in the given series from
the given alternatives -
14,39, 84, 155, 260

(A) g4

(B) 260
©) 155

(D) 39

3 a1 aia
WWWUWW%}?
(A) 48 i (B) 36 31
(©) 18 3 (D) 64 &I
112, reafier @ TFR @ SET FEE €
(A) fafiran (B) aftrers
(C) wreRem (D) BIHTE
13, iy W faR & — :
1. HiegM
2. Alsed JAfrTSs
3. gard .
=1 # 9 @F SRS dNiE ® g ©
forg SoRery & /87
(A) Saat 1 (B) Badt 3
(©) 1, 2 3R 3 (D) Baet 1 3R 2
114.

115.

o foftuer 9 wefaa v soH @7 =T
PN — .
(A) Sig fafderar e Yar @) ok gedt &

(B) Sta faferar Seaey sl & oRe Ty
g

(C) gt R Vg R v e UE oy

() 5=7 fewmerlt &=t & favg & waie S
fafqerar &8 -

TR (ISRO) & AR & W B / Fo &7 ey
ey ;

(1) T SN TS WA SR @ Rymfor

116.

Page 17 of 24

fdar T ok = 1975 JTL. (USA)
BRI U&T foar )
(z.)m#m%mmaﬁﬁw—ﬁwﬁ

(3) T & AR Pered BRI, T W
Rera &1

(W) 1,2,3 (B) 1,3

(€) 2,3 D) 1,2 .
feg g famedt # & T sjwan ¥ o wivan
Hd BRI

14, 39, 84, 155, 260

(A) 84 (B) 260

(C) 155 (D) 39
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118.

119.

120.

121.

Select the related letters to repla

NS Er- K

[ 3 7 & W W) Hdfad

the giver-eptions=

HILN : SQOM : : DFHJ : ?
(A) XrRQS (B) xasa
(€) wusq (D) VRQS

The average age of a class of 40 students and a
teacher reduces by 0.5 years, if we exclude the
teacher. If the initial average age is 18 years,
then what is the age of the teacher?
(A) 41 years (B) 38 years
(C) 40 years (D) 39 years

Rahul starts walking from point R, which is 16
m to the west of point T. From point R, he walks
20 m to the south, takes a right turn and walks
for 10m. He then takes a right turn, walks for
&m and stops at point C. Gaurav starts walking
from point A, which is 8 m to the south of point
T. From point A, he walks 10m to the East, takes
a right turn and walks for 6m. He then takes a
right turn walks for 26m and staps at point B.
What is the distance between point C and point
B?

(A) 25 m
(€) 15m

(B) 10 m
(D) 12m

In a row of 21 men when Manish was shifted by
four places towards the right, now he becomes
12" from the left end. What was his earlier
position from the right end of the row?

(A) 10th (B) 12th

(C) 14t (D) gth

How many triangles are there in the following
figure?

o JERT BY ] —

OO HJLN : SQOM : : DFHJ : ?

.?‘E (A) XRQS (B) xasa

<2 © wusa (D) VRQS

"B, 3R &9 R @) Bre < a1 40 B 3R Us

3P)

= Rierd ® P DI AT MY 0.5 99 BH @l
Sl 2| Al uRMS o omg 1899 @,

- &0 Rers @t amg Fm 27

&0 (A) a1 (B) 38 7f
t2 (©) a0 (D) 39 |
M9 rgat fig R & T O avar &, T Rig T B
ﬁ%tr@aqﬁm#r.%lﬁgﬂﬁagzoﬁam
S 3 IR Tl 2, T Foal € &R 10 #. gerar
%1%@@5@% 6 HI. et € 3R fig
chwmélfﬁwﬁgfxﬁm%
‘é’%m% W i3 T B 8 AL < § 2 Fig A
S a0 94 @1 AR =@ R, R gear 2
"‘“aﬁvafﬁ e &1 fiR a8 T e @ ok
25#7 T & AR g B W v e 2 1fig
caﬁ?ﬁgaﬁaﬁﬁﬁqﬁﬁmﬁ%?
D (A 254, (B) 1041,
Ex;'i(c) 15 41, (D) 124,
1%@21w2ﬁwwﬁﬁﬁﬂtﬁwaﬁwmm
FWWWImwmﬁ‘aﬁvﬁua
mww%wﬁaﬁaﬁwﬁﬁwuﬁﬁ
I T 9r?
(A) 104 (B) 124}
(C) 143} (D) g E

121, et forr 4 oy fonger 27

L\
L e -
(A) 16 (B) 14 (A) 16 (B) 14
(C) 13 (D) 15 © 13 ®) 15
131A % Page 18 of 24
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122. Choose crrect mirror image of glA{H&/\/g%@yWﬁ 7 wér <dor wffifar EY

figure when mirror is placed on the line AB —

Question Figure

o mmATThTm >

(A) (B)

(C) (D) : F G

LA S

1311065818

123. Two candidates fought an election. One of

o0
them got 65% of the total votes casted and wen

588

by 420 votes. What is the total number of vot€3

polled if no vote is declared invalid?
(A) 1200 (B) 1400
(C) 1300 (D) 1500

124. statement— Quality hasa price tag. India is{c)

i d )

allocating lots of funds to £

_ —

education. =

Conclusion — 1. Quality of education in India
would improve soon.

&)

II. Funding alone can enhance=—

quality of education.

(A) Only conclusion | follows

{iE658

' (B) Only conclusion Il follows | e

1

(C) Neither I norll follows
(D) Both I and Il follows

131A 0:0

818 13110

Srq <gur @Y Y@ AB WX Xl WG

o APl
E
(A) (B) ;< E
>

L —

© : (D) 5 >Z

123. 2y gelleaR 3 ¢ gE oSl | T | TF
@H@lﬁnﬁqﬂ‘fﬁss‘%nﬁmﬁsﬁaﬁ?uo
Tt & Frori &) T | afy B e s Ef
& fear T, A S TQ qal "l B OEEAT

T 8?7
(A) 1200 (B) 1400
(C) 1300 (D) 1500

124. o — U BT T qFd ST Bl & | AR
e @ forg 9ga AR o SMEfed R
RET |
frepd @ | wRa A R @ R H Seg &
FUR BT |
Il 3oy, faret drooT e &1 T[T B
931 |l 2 |
(A) ey forepe | SERvT T
(B) Bei foread 1| argeel el 2
©) 7 a8k =7 & 1l SRR BT ©
() 19k 11 R} arpeReT TR
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125,

126.

127.

128.

129.

Ais B’s o

IS D’s mother. How is A related to D?

(A) Granddaughter
(C) Grandmother

(B) Daughter

(D) Grandfather

A shopkeeper gives rebate of 20% and 10%
successively on print price of a chair. If cost of

chair is ¥ 2,000, then how much amount will
Customer pay?

(A) 1,400
(€) 1,600

(B) 1,440

(D) 1,500

If A’s income is 3/5 times of B’s income and C’s
income is 6/5 times of B’s income then the ratio
of C’s income to A’s income is -

(A) 3:1 (B) 2:1

(C) 1:1 (D) 1:2

Th'e difference between the simpleinterest and

the compound interest on a certain amount at

5% for two years is T 25, what is the amount?
(A) ¥ 15,000 (B) ¥ 9000
(C) ¥ 10,000 (D) ¥ 8000

Which one of the following diagrams
represent- the relation between Tree, Teak,
Salamander2s

0 D
g . (D) @O

RIPPLE is coded as DMOQHSS in a code
,uage, how is- VICTORY coded in that

7 el 8| C, B

AT 21D, ¢ 1 fiy
21ED aﬁmﬁr%‘mﬁmmoﬁm@ﬁ
27

(A) G
(C) Ty

(B) gt
(D) =7

$UP AN TR B A Tew w20y

Wlo%a%fa;a’m%nuﬁ:m;ﬁaﬂ@
z,ooo¥%‘,ﬁmzﬁimwg¢m

qSIT?
(A) 1,400 ® 1400 [l
(€) 1,600 (D) 1,500 '

-aﬁAa‘v’rm,Baﬁmﬁs/swﬁﬁmc

P I, B B AT W 6/57 2, A € F ana
BT A DT A F U & —

(A) 31 (B) 2:1

©) 11 D) 1:2 °

-wﬁﬁaﬁvﬁrws% @ X 9 © 991 B

ferg e e ok wwefy @ @ @ @

IR 25 TR, i T 27 '
(A) 15,000 (B) 90003
(C) 10,0002 (D) 80003

- Frfelaa & ¥ sv—ar oM s, @i ok

WA & @ dey o7 gl o=ar 87

(A) @ O (B) @BD .
(C) (D) @O .

- 5 widfye wwr ¥ ofe TRIPPLE @1

DMOQHSS &, & &=l *rar 3 -VICTORY & 3

T BT
(A) ZXPSDHW

(B) UJBUNSX

(C) WHDSpQz (D) XSNUBJU

uagE?
«PSDHW (B) UJBUNSX
‘ (D) XSNUBJU
psPQZ
WH
oo ' ; Page 20 of 24 |
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T

3.

133.

134.

'Wa;aﬁﬁwwmAﬂ_ el Key

AN 1R C S z:

(A) HRTTTT

i or e
3. fra w3 ‘Allocation’ Ireg 7 fassy TR we T 37

(A) f | & i .

ol ‘ (D) forere

feim T B 3R W < Rren a7 T v —

(A) T3, SF—T, aRa—TRG (B) apemw—ad, rg—fas1, FT—T

(©) T, ST, Yot (0) TS, SIS, ST
fr 3 & e RbeT & Tl Wi # e 4 gegg A @1 WA €9 &

(A) e, wfAd, fed (B) sraTd, ardeid, Jafd
(C) 3rafdy, arasi, JraEd (D) frgreei, TRaR®, s
135, wio ot @ aE § B — w1 Rieed g T8 87
(A) 7, § — FEYEH (B) 7, T — Wl &
(C) ¥, 7 — EfwR (0) ¥, & — wef werdl
136. ST faded BT AU BIRTY —
(A) gfer ¥ @R THSArT| — IRomefe foar _
(B) e < wRfe A H o §1 - it
(€) red e ¥ s W T — arHa foa |
(D) wa ¥ | — P fha
137.ﬁqﬁgmmwﬁﬁfﬁﬁﬁrﬂwﬁ%‘?
(&) T ®) g
(©) Ri | G
1%.mﬁwﬁmmmm#ﬁ§3ﬂ%‘?
@ i ®) i
(C) wruera= . (D)ﬁm
139, areg @1 ad- b
T;;f;?—eﬁ%maﬁﬂﬁrm%l (B) ST # 31 e wrd de v ¥
(©) e 3 g w e T (D) R AR TR fwary 2|
14o.mmﬁﬁ§&ﬁa§ﬁ%ﬁﬁmmmm‘
(A) Y + o = fa @ (B)ﬁﬁ+w:ﬁam_‘5
(C)aﬁ+g%:aﬁ3l () M + ¥orr = rgon
1314 % page 21 0of 24
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Answer Key

eetiomt
(14110 143) . Read the given passage and answer the questions that follow —

Despite th ; |
e frustratlng years of dragging children out of bed and persuading them to go to schoo|

young chi| :
dren have an internal drive to learn about their world, and become industrious and

Productive indivi : 4
Individuals. Their educational eagerness and curiosity can either be stifled or encourageq

by pare
Nts, teachers and other adults. Aware parents can encourage their children’s development of

import : : i )
Portant life skills, Besides teaching them to read and write, school and home environments teach

chi ; . .
ildren cooperat_:on and interdependence. Children also engage in important play rituals (like playing

wi )
ith dolls or cops and robbers) which prepare them for adolescence and adulthood. Supportive parents

can promote crucial learning of life skills. Above all, school-age children struggle with feeling of

inferiority and incompetence when they compare themselves with their peers. If they don’t fit in, they

might feel insignificant. Loving and accepting parents help these children develop the confidence to

create a future where they can thrive and feel good about themselves.

141. Some games prepare the children for:

(A) adolcscence and adulthood (B) academics
© P npetition (D) good health
142. 7= antonym of the word ‘curiosity’ given in the passage is -
(A) intrusiveness V(B) apathy
orying (D) inquisitiveness

145.

synonym of the word ‘stifled’ given in the passage is -

.) enhanced (B) suppressed

(C) inspired (D) amplified

Choose the correct option:

me laugh. (Change into passive voice)

They made
(A) | were madeto laugh by them. (BB Vins made to laugh.
(C) They made to@ laugh by me- (D) They were made to laugh by me.
Give one word substitute for
e number of fish swimming together,
4‘(:|)ar|?tter | (B) troupe
(C) shoal (D) swarm

//— Page 22 of 24 : ‘
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147.

148.

149.

150.

S e T

Mom, coufdyou put my books inside the bag?

(A) ﬁ,'WWﬁﬁﬂﬁmﬁ?%ﬁwmﬁ?

(B) ﬁ,wmﬁﬁw?ﬂﬁm‘ﬁg? (

(©) ﬁ,wﬁ%ﬁﬁﬁwm?@ﬁg?

(©) =, 721 5T 48 frert 47 4 < wah @

Which of the following is/are the correct statement/s regarding letter writing?

(1 ‘Your’s Faithfully’ is used for ending a formal letter.

(1) The right sequence qf writing a letter to the éditor is - Sender’s address, Réceiver’s address,
Subject, SalUtation, Body of letter, Subscriptibn, Date. . |

() . The right format of writing a date in all formal letters is ‘30" May, 2022’ instead of ‘30/05/2022’.

(IV)  “Yours Truely’ is used for ending an informal letter.

Code-

(A) Only 1, Ill and IV are correct (B) Only Il is correct

(C) Only I, Il and-IV are correct (D) Only Il and IV are correct ,
Choose the meaning of the underl.ined phrase/ldioﬁ -

| am going to stay at home because | am feeling under the wéather today.

(A) depressed ’ | (B) unhappy

(©) irtitated , : (D) sick

Fill in the blank spaces in the given sentence choosing correct answer from the given options —

LE I tiger is ....ccowe..... fierce wild animal”.
(A) a2 a (B) the,a ' =
(C)-a,the . (D) the, the . E

Choose the correct answer from the given options -

The teacher said to the students, “Take back your books”. (Change RS Ssedh)
(A) The feacher asked the students to take back their books.

(B) The teacher asked the students to take back your books,

() The teacher told the students to take back books.

(D) The teacher 6rdered the students to take back your books,

13]A 020
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